GENERATING RELATIONS INVOLVING GENERALIZED ZERNIKE OR DISK POLYNOMIALS

M. J. S. Shahwan*

Department of Mathematics, University of Bahrain, P.O. Box: 32038, Kingdom of Bahrain.

(Received On: 17-01-15; Revised & Accepted On: 31-01-15)

ABSTRACT

Generating relations play a large role in the study of special functions. The present paper deals with the derivation of some novel generating relations of generalized Zernike or disc polynomials by the application of group-theoretic method introduced by Louis Weisner .In fact, by suitably interpreting the indices (m) and (n) of the polynomials under consideration we define six linear partial differential operators and on showing that they generate a Lie algebra, we obtain a new generating relation (2.4) as the main result of our investigation. Furthermore, some generating relations of Laguerre 2D polynomials $L_{m,n}(z,z^*)$ Jacobi polynomials $P_n^{(\alpha,\beta)}(u)$ and ${}_2F_1(a,b;c;x)$ the hyper geometric function are obtained as the special cases of our main result.

Keywords and phrases: Generalized Zernike or dick Polynomials, Generating relations.

AMS Subject Classification: 33C45, 33C50, 33C80.

1. INTRODUCTION

The generalized Zernike or disc polynomials $P_n^{(\alpha,\beta)}(z,z^*)$, (m,n=0,1,2,...) defined by Wunsche [13,p.137(2.1)] are orthogonal 2D polynomials in the unit disc $0 \le \sqrt{zz^*} < 1$ with weights $(1-zz^*)^\alpha$ in complex coordinates z = x + iy, $z^* = x - iy$, where $\alpha > -1$ is a real free parameter which are defined as the following (agrees with Dunkle and Xu [5] and up to standardization with Koornwinder [8])

$$P_{m,n}^{\alpha}(z,z^{*}) = \frac{n!\alpha!}{(n+\alpha)!} z^{m-n} P_{n}^{(\alpha,m-n)}(2zz^{*}-1)$$

$$= \frac{m!\alpha!}{(m+\alpha)!} z^{*n-m} P_{m}^{(\alpha,n-m)}(2zz^{*}-1)$$

$$= z^{m} z^{*n} {}_{2} F_{1} \left(-m,-n;\alpha+1;1-\frac{1}{zz^{*}}\right), (m,n=0,1,2,...)$$
(1.1)

where $P_n^{(\alpha,\beta)}(u)$ denotes the Jacobi polynomials and ${}_2F_1(a,b;c;x)$ the hyper geometric function(e.g., [1,2,6,9,10]). And it is related to Laguerre 2D polynomials $L_{m,n}(z,z^*)$ by the following relation [13, p.140 (2.14)]

$$L_{m,n}(z,z^*) = \lim_{|\alpha| \to \infty} \left(\sqrt{\alpha}\right)^{m+n} P_{m,n}^{\alpha} \left(\frac{z}{\sqrt{\alpha}}, \frac{z^*}{\sqrt{\alpha}}\right)$$
(1.2)

These polynomials defined by (1.1) satisfy the following simultaneous partial differential equations

$$s^{2}zz * \frac{\partial^{2}w}{\partial s^{2}} + (1 - zz *) \left[sz \frac{\partial^{2}}{\partial z \partial s} - sz * \frac{\partial^{2}}{\partial s \partial z} * - (1 - zz *) \frac{\partial^{2}}{\partial z \partial z} \right] w + (2zz * + \alpha zz * - 1) s \frac{\partial w}{\partial s}$$
$$+ (1 + \alpha) z \left[z * + \frac{(1 - zz *)}{s} + (1 - zz *) \frac{\partial}{\partial z} \right] w - m(m + \alpha) w = 0$$
(1.3)

Corresponding Author: M. J. S. Shahwan*

and

$$t^{2}zz * \frac{\partial^{2}w}{\partial t^{2}} + \left(1 - zz * \left[tz * \frac{\partial^{2}}{\partial z * \partial t} - tz \frac{\partial^{2}}{\partial t \partial z} - (1 - zz *) \frac{\partial^{2}}{\partial z \partial z *}\right]w + \left(2zz * + \alpha zz * -1\right)t \frac{\partial w}{\partial t} + \left(1 + \alpha\right)z * \left[z + \frac{\left(1 - zz *\right)}{t} + \left(1 - zz *\right) \frac{\partial}{\partial z *}\right]w - n(n + \alpha)w = 0$$

$$(1.4)$$

More recent representations of the Zernike polynomials with application to the optical aberrations and with graphical representations are given in [7, 14, 15]. This is carefully summarized in Weisstein's Encyclopedia [12].

The generalized Zernike or disc polynomials may find multiple applications in cases when one has to do with given functions over a circular disc and when one wants to make expansions into an orthonormalized set of functions over this disc, in particular, in geometrical and wave optics for systems with circular apertures [3,4,7,15], for example, in Kirchoff's diffraction integrals where one has to insert the field and its first derivative within the aperture.

The aim at presenting the article is to apply L.Weisner's group theoretic method [11] with suitable interpretations of the indices (m) and (n) in the study of generalized Zernike or disc polynomials. The principal interest in the given results lies in the fact that a number of special cases listed in section 3 would yield many new results of the theory of special functions.

2. GROUP-THEORETIC METHOD

Replacing m by $s \frac{\partial}{\partial s}$ and n by $t \frac{\partial}{\partial t}$ in (1.3) and (1.4) respectively, we get

$$s^{2}zz * \frac{\partial^{2}w}{\partial s^{2}} + (1 - zz *) \left[sz \frac{\partial^{2}}{\partial z \partial s} - sz * \frac{\partial^{2}}{\partial s \partial z} * - (1 - zz *) \frac{\partial^{2}}{\partial z \partial z} * \right] w + (2zz * + \alpha zz * - 1)s \frac{\partial w}{\partial s}$$

$$+ (1 + \alpha)z \left[z * + \frac{(1 - zz *)}{s} + (1 - zz *) \frac{\partial}{\partial z} \right] w - s \frac{\partial}{\partial s} \left(s \frac{\partial}{\partial s} + \alpha \right) w = 0$$

$$(2.1)$$

$$t^{2}zz * \frac{\partial^{2}w}{\partial t^{2}} + (1 - zz *) \left[tz * \frac{\partial^{2}}{\partial z * \partial t} - tz \frac{\partial^{2}}{\partial t \partial z} - (1 - zz *) \frac{\partial^{2}}{\partial z \partial z *} \right] w + (2zz * + \alpha zz * - 1)t \frac{\partial w}{\partial t}$$

$$+ (1 + \alpha)z * \left[z + \frac{(1 - zz *)}{t} + (1 - zz *) \frac{\partial}{\partial z *} \right] w - t \frac{\partial}{\partial t} \left(t \frac{\partial}{\partial t} + \alpha \right) w = 0$$

$$(2.2)$$

We see that $u(z, z^*, s, t) = P_{m,n}^{\alpha}(z, z^*)s^mt^n$ is a solution of (2.1) and (2.2), since $P_{m,n}^{\alpha}(z, z^*)$ is a solution of (1.3) and (1.4).

We first consider the following first order linear differential operators

$$A_{1} = s \frac{\partial}{\partial s} + \frac{(\alpha + 1)}{2}$$

$$A_{2} = t \frac{\partial}{\partial t} + \frac{(\alpha + 1)}{2}$$

$$A_{3} = z * \frac{\partial}{\partial s} + \frac{(1 - zz *)}{s} \frac{\partial}{\partial z}$$

$$A_{4} = s^{2}z \frac{\partial}{\partial s} - (1 - zz *)s \frac{\partial}{\partial z} + (1 + \alpha)sz$$

$$A_{5} = z \frac{\partial}{\partial t} + \frac{(1 - zz *)}{t} \frac{\partial}{\partial z^{*}}$$

$$A_{6} = t^{2}z^{*} \frac{\partial}{\partial t} - (1 - zz *)t \frac{\partial}{\partial z} + (1 + \alpha)tz^{*}$$

such that

$$A_{1}[f(z,z^{*},s,t)] = \left(m + \frac{(\alpha+1)}{2}\right) P_{m,n}^{\alpha}(z,z^{*}) s^{m} t^{n}$$

$$A_{2}[f(z,z^{*},s,t)] = \left(n + \frac{(\alpha+1)}{2}\right) P_{m,n}^{\alpha}(z,z^{*}) s^{m} t^{n}$$

$$A_{3}[f(z,z^{*},s,t)] = m P_{m-1,n}^{\alpha}(z,z^{*}) s^{m-1} t^{n}$$

$$A_{4}[f(z,z^{*},s,t)] = (m+1+\alpha) P_{m+1,n}^{\alpha}(z,z^{*}) s^{m+1} t^{n}$$

$$A_{5}[f(z,z^{*},s,t)] = n P_{m,n-1}^{\alpha}(z,z^{*}) s^{m} t^{n-1}$$

$$A_{6}[f(z,z^{*},s,t)] = (n+1+\alpha)P_{m,n+1}^{\alpha}(z,z^{*})s^{m}t^{n+1}$$

where the operators $\{A_i : i = 1,2,3,4,5,6\}$ satisfy the following commutation relations

$$\begin{split} &[A_1,A_2]=0 \qquad [A_2,A_3]=-A_3 \quad [A_3,A_4]=2A_1 \quad [A_4,A_5]=0 \quad [A_5,A_6]=2A_2 \\ &[A_1,A_3]=-A_3 \quad [A_2,A_4]=A_4 \quad [A_3,A_5]=0 \quad [A_4,A_6]=0 \\ &[A_1,A_4]=A_4 \quad [A_2,A_5]=-A_5 \quad [A_3,A_6]=0 \\ &[A_1,A_5]=-A_5 \quad [A_2,A_6]=A_6 \\ &[A_1,A_6]=A_6 \end{split}$$

where [A, B] = AB - BA.

The above commutation relations show that the set of operators $\{A_i: i=1,2,3,4,5,6\}$ generate a Lie-algebra λ and the sets of operators $\{A_1,A_3,A_4\}$ and $\{A_2,A_5,A_6\}$ form a sub algebras of λ . It is clear that the differential operators

$$L_{1} = s^{2}zz * \frac{\partial^{2}w}{\partial s^{2}} + (1 - zz *) \left[sz \frac{\partial^{2}}{\partial z \partial s} - sz * \frac{\partial^{2}}{\partial s \partial z} * - (1 - zz *) \frac{\partial^{2}}{\partial z \partial z} * \right] w$$

$$+ (2zz * + \alpha zz * - 1)s \frac{\partial w}{\partial s} + (1 + \alpha)z \left[z * + \frac{(1 - zz *)}{s} + (1 - zz *) \frac{\partial}{\partial z} \right] w - s \frac{\partial}{\partial s} \left(s \frac{\partial}{\partial s} + \alpha \right) w = 0$$

$$L_{2} = t^{2}zz * \frac{\partial^{2}w}{\partial t^{2}} + (1 - zz *) \left[tz * \frac{\partial^{2}}{\partial z * \partial t} - tz \frac{\partial^{2}}{\partial t \partial z} - (1 - zz *) \frac{\partial^{2}}{\partial z \partial z *} \right] w$$

$$+ (2zz * + \alpha zz * - 1)t \frac{\partial w}{\partial t} + (1 + \alpha)z * \left[z + \frac{(1 - zz *)}{t} + (1 - zz *) \frac{\partial}{\partial z *} \right] w - t \frac{\partial}{\partial t} \left(t \frac{\partial}{\partial t} + \alpha \right) w = 0$$

which can be expressed as:

$$L_1 = A_3 A_4 - m(m + \alpha)$$
 and $L_2 = A_5 A_6 - n(n + \alpha)$

Commutes with $\{A_i : i = 1, 2, 3, 4, 5, 6\}$ that is

$$\begin{cases}
[L_1, A_i] = 0, i = 1, 2, 3, 4, 5, 6 \\
[L_2, A_i] = 0, i = 1, 2, 3, 4, 5, 6
\end{cases}$$
(2.3)

The extended form of the groups generated by $\{A_i : i = 1,2,3,4,5,6\}$ are as follows:

$$e^{a_{1}A_{1}} f(z,z^{*},s,t) = \exp\left[\left(\frac{\alpha+1}{2}\right)a_{1}\right] f(z,z^{*},se^{a_{1}},t)$$

$$e^{a_{2}A_{2}} f(z,z^{*},s,t) = \exp\left[\left(\frac{\alpha+1}{2}\right)a_{2}\right] f(z,z^{*},s,te^{a_{2}})$$

$$e^{a_{3}A_{3}} f(z,z^{*},s,t) = f\left(\frac{1}{z^{*}}\left(1 - \frac{s(1-zz^{*})}{s+a_{3}z^{*}}\right),z^{*},s+a_{3}z^{*},t\right)$$

$$e^{a_{4}A_{4}} f(z,z^{*},s,t) = (1-a_{4}sz)^{-(1+\alpha)} f\left(z,\frac{1}{z}\left(1 - \frac{1-zz^{*}}{1-a_{4}sz}\right),\frac{s}{1-a_{4}sz},t\right)$$

$$e^{a_{5}A_{5}} f(z,z^{*},s,t) = f\left(z,\frac{1}{z}\left(1 - \frac{t(1-zz^{*})}{t+a_{5}z}\right),s,t+a_{5}z\right)$$

$$e^{a_{6}A_{6}} f(z,z^{*},s,t) = (1-a_{6}tz^{*})^{-(1+\alpha)} f\left(\frac{1}{z^{*}}\left(1 - \frac{1-zz^{*}}{1-a_{6}tz^{*}}\right),z^{*},s,\frac{t}{1-a_{6}tz^{*}}\right)$$

where $f(z, z^*, s, t)$ is an arbitrary function.

Then we have

$$e^{a_{6}A_{6}}e^{a_{5}A_{5}}e^{a_{4}A_{4}}e^{a_{3}A_{3}}e^{a_{2}A_{2}}e^{a_{1}A_{1}}f(z,z^{*},s,t)$$

$$= (\beta)^{-(1+\alpha)}(\beta')^{-(1+\alpha)}\exp\left[\left(\frac{\alpha+1}{2}\right)a_{1}\right]\exp\left[\left(\frac{\alpha+1}{2}\right)a_{2}\right]$$

$$...f\left(\frac{1}{\gamma}\left(1-\frac{\frac{s}{\beta}(1-\gamma z)}{\frac{s}{\beta}+a_{3}\gamma}\right),\frac{1}{\gamma'}\left(1-\frac{\frac{t}{\beta'}(1-\gamma'z^{*})}{\frac{t}{\beta'}+a_{5}\gamma'}\right),\left(\frac{s}{\beta}+a_{3}\gamma\right)e^{a_{1}},\left(\frac{t}{\beta'}+a_{5}\gamma'\right)e^{a_{2}}\right)$$

$$\text{where }\beta=1-a_{4}sz\ ,\ \gamma=\frac{1}{z}\left(1-\frac{1-zz^{*}}{1-a_{4}sz}\right),\ \beta'=1-a_{6}tz^{*}\ ,\ \gamma'=\frac{1}{z^{*}}\left(1-\frac{1-zz^{*}}{1-a_{6}tz^{*}}\right)$$

3. GENERATING FUNCTIONS

From the above discussion, we see that $u(z,z^*,s,t)=P_{m,n}^{\alpha}(z,z^*)s^mt^n$ is a solution of the following systems

$$\begin{cases} L_1 u = 0 & \begin{cases} L_2 u = 0 \\ (A_3 A_4 - m(m + \alpha))u = 0 \end{cases} (A_5 A_6 - n(n + \alpha))u = 0$$

From (2.3), we easily see that

$$SL_1(P_{m,n}^{\alpha}(z,z^*)s^mt^n) = L_1S(P_{m,n}^{\alpha}(z,z^*)s^mt^n)$$

and

$$SL_{2}(P_{m,n}^{\alpha}(z,z^{*})s^{m}t^{n}) = L_{2}S(P_{m,n}^{\alpha}(z,z^{*})s^{m}t^{n}).$$

where
$$S = e^{a_6 A_6} e^{a_5 A_5} e^{a_4 A_4} e^{a_3 A_3} e^{a_2 A_2} e^{a_1 A_4}$$

Therefore, the transformation $S(P_{m,n}^{\alpha}(z,z^*)s^mt^n)$ is also annulled by L_1 and L_2 .

By setting
$$\left\{a_i=0: i=1,2,3,4; a_3=c, a_4=b\right\}$$
 and writing $f(z,z^*,s,t)=P_{m,n}^{\alpha}(z,z^*)s^mt^n$ in (2.4), we get

$$e^{bA_4}e^{cA_3}\left(P_{m,n}^{\alpha}\left(z,z^*\right)s^mt^n\right) = \left(1 - bsz\right)^{-(1+\alpha)}.P_{m,n}^{\alpha}\left(\frac{1}{\gamma}\left(1 - \frac{\frac{s}{\beta}\left(1 - \gamma z\right)}{\frac{s}{\beta} + c\gamma}\right),\gamma\right)\left(\frac{s}{\beta} + c\gamma\right)^mt^n \tag{3.1}$$

But

$$e^{bA_4}e^{cA_3}\left(P_{m,n}^{\alpha}(z,z^*)s^mt^n\right) = \sum_{l=1}^{\infty}\sum_{k=1}^{\infty}\frac{b^k}{k!}\frac{c^l}{l!}\prod_{k=1}^{\infty}(m+\alpha+k)\prod_{l=1}^{\infty}(m-(l-1))P_{m+k-l,n}^{\alpha}(z,z^*)s^{m+k-l}t^n$$
(3.2)

Combining the above two relations (3.1) and (3.2), we get

$$(1-bsz)^{-(1+\alpha)} \left(\frac{s}{\beta} + c\gamma\right)^{m} P_{m,n}^{\alpha} \left(\frac{1}{\gamma} \left(1 - \frac{\frac{s}{\beta}(1-\gamma z)}{\frac{s}{\beta} + c\gamma}\right), \gamma\right)$$

$$= \sum_{l=1}^{\infty} \sum_{k=1}^{\infty} \frac{b^{k}}{k!} \frac{c^{l}}{l!} \prod_{k=1}^{\infty} (m+\alpha+k) \prod_{l=1}^{\infty} (m-(l-1)) P_{m+k-l,n}^{\alpha}(z,z^{*}) s^{m+k-l}$$
where $\beta = 1-bsz$, $\gamma = \frac{1}{z} \left(1 - \frac{1-zz^{*}}{1-bsz}\right)$, $|b| < \infty$ and $|c| < \infty$.

If we put b = 0, s = 1 in equation (3.3), we get

$$(1 + cz^*)^m \cdot P_{m,n}^{\alpha} \left(\frac{1}{z^*} \left(1 - \frac{1 - zz^*}{1 + cz^*} \right), z^* \right) = \sum_{l=1}^{\infty} \frac{c^l}{l!} \prod_{l=1}^{\infty} (m - (l-1)) P_{m-l,n}^{\alpha} (z, z^*), \text{ where } |c| < \infty.$$
 (3.4)

If we put c = 0, s = 1 in equation (3.3), we get

$$(1 - bz)^{-(1 + \alpha + m)} \cdot P_{m,n}^{\alpha} \left(z, \frac{1}{z} \left(1 - \frac{1 - zz^*}{1 - bz} \right) \right) = \sum_{k=1}^{\infty} \frac{b^k}{k!} \prod_{k=1}^{\infty} (m + \alpha + k) P_{m+k,n}^{\alpha} (z, z^*) \text{ where } |b| < \infty.$$
 (3.5)

$$e^{b'A_{6}}e^{c'A_{5}}\left(P_{m,n}^{\alpha}(z,z^{*})s^{m}t^{n}\right) = \left(1 - b'tz^{*}\right)^{-(1+\alpha)}.P_{m,n}^{\alpha}\left(\gamma',\frac{1}{\gamma'}\left(1 - \frac{\frac{t}{\beta'}(1 - \gamma'z^{*})}{\frac{t}{\beta'} + c'\gamma'}\right)\right)s^{m}\left(\frac{t}{\beta'} + c'\gamma'\right)^{n}$$
(3.6)

But

$$e^{b'A_6}e^{c'A_5}\left(P_{m,n}^{\alpha}(z,z^*)s^mt^n\right) = \sum_{l=1}^{\infty}\sum_{k=1}^{\infty}\frac{b^k}{k!}\frac{c^l}{l!}\prod_{k=1}^{\infty}(n+\alpha+k)\prod_{l=1}^{\infty}(n-(l-1))P_{m,n+k-l}^{\alpha}(z,z^*)s^mt^{n+k-l}$$
(3.7)

Combining the above two relations (3.6) and (3.7), we get

$$(1 - b'tz^{*})^{-(1+\alpha)} \left(\frac{t}{\beta'} + c'\gamma'\right)^{n} P_{m,n}^{\alpha} \left(\gamma', \frac{1}{\gamma'} \left(1 - \frac{\frac{t}{\beta'}(1 - \gamma'z^{*})}{\frac{t}{\beta'} + c'\gamma'}\right)\right)$$

$$= \sum_{l=1}^{\infty} \sum_{k=1}^{\infty} \frac{b'^{k}}{k!} \frac{c'^{l}}{l!} \prod_{k=1}^{\infty} (n + \alpha + k) \prod_{l=1}^{\infty} (n - (l-1)) P_{m,n+k-l}^{\alpha} (z, z^{*}) t^{n+k-l}$$
where $\beta' = 1 - b'tz^{*}$, $\gamma' = \frac{1}{z^{*}} \left(1 - \frac{1 - zz^{*}}{1 - b'tz^{*}}\right)$, $|b'| < \infty$ and $|c'| < \infty$.

If we put b = 0, t = 1 in equation (3.8), we get

$$(1 + c'z)^n . P_{m,n}^{\alpha} \left(z, \frac{1}{z} \left(1 - \frac{1 - zz^*}{1 + c'z} \right) \right) = \sum_{l=1}^{\infty} \frac{c^l}{l!} \prod_{l=1}^{\infty} \left(n - (l-1) \right) P_{m,n-l}^{\alpha} \left(z, z^* \right) \text{ where } \left| c' \right| < \infty.$$
 (3.9)

If we put c = 0, t = 1 in equation (3.8), we get

$$(1 - b'z^*)^{-(1+\alpha+n)} \cdot P_{m,n}^{\alpha} \left(\frac{1}{z^*} \left(1 - \frac{1 - zz^*}{1 - b'z^*} \right), z^* \right) = \sum_{k=1}^{\infty} \frac{b^k}{k!} \prod_{k=1}^{\infty} (n + \alpha + k) P_{m,n+k}^{\alpha} (z, z^*)$$
 where $|b'| < \infty$. (3.10)

4. CONCLUSION

We have seen that Weisner's group theoretic method is a power full tool in getting generating functions. It is also interesting to define a new function which forms generalization for the generalized Zernike or disc polynomials under consideration and then by using Lie theoretic technique, we can obtain generating functions. We will deal with this aspect in the subsequent communication.

ACKNOWLEDGEMENT

The author would like to gratefully acknowledge the financial support of the Deanship of Scientific research, University of Bahrain under research project No.2012/13 which was approved by University Council decision No.2012/61 dated 19.1.2012.

REFERENCES

- 1. Abramowitz, M., I. Stegun , Handbook of mathematical functions, National Bureau of standards (series 55), New York , (1965).
- 2. Andrews, G.E., Askey, R., Roy, R., Special functions, Cambridge university press, Camridge, (1999).
- 3. Born, M., Wolf, E., Principles of optics, 7th edition, Cambridge university press, Cambridge, (1999) (first edition 1959).
- 4. Buchdahl, H.A., An introduction to Hamiltonian optics, Cambridge university press, Cambridge, (1970).
- 5. Dunkle, Ch.F., Yuan Xu, Orthogonal polynomials of several variables, Cambridge university press, Cambridge, (2001).
- 6. Erdelyi , A., Higher Transcendental functions, Vol.2, Mc Graw-Hill, Ney York, (1953).
- 7. Kim, C.J., Shannon, R.R., in: Shannon, R., Wyant, J., (Eds.), Applied optics and optical engineering, Vol. X, Academic press, New York, (1987), 193-221.
- 8. Koorwinder, T.H., Two-variable analogues of the classical orthogonal polynomials, in: Askey, R.A., (Ed.), Theory an application of special functions, Academic press, New York, (1975), 435-495.
- 9. Rainville, H.M., Special functions, Chelsea publishing company, New York, (1960).
- 10. Srivastava, H.M., Manocha, H.L., Atreatise on generating functions, Ellis Horwood, Wiley, New York, (1984).
- 11. Weisner, L., Group-theoretic origin of certain generating Functions, Pacific J. Math. 5(1955), 1033-1039.
- 12. Weisstein, E.W.,CRC Concise Encyclopedia of mathematics, 2nd edition, Chapman & Hall/CRC, London (2002) (see also: Eric Wiesstein's world of mathematics, Aworld web research).
- 13. Wunsche, A., Generalized Zernike and disc polynomials, J. Comput. Appl. Math. 174(2005), 135-163.
- 14. Wyant J.C. Creath, K., in: Shannon, R., Wyant, J., (Eds.), Applied optics and optical engineering, Vol. XI, Academic press, New York, (1992), 28-37.
- 15. Zhang, S., Shannon, R.R., in: Shannon, R., Wyant, J., (Eds.), Applied optics and optical engineering, Vol. XI, Academic press, New York, (1992), (chapter 4).

Source of support: Deanship of Scientific research, University of Bahrain under research project No.2012/13, Conflict of interest: None Declared

[Copy right © 2014. This is an Open Access article distributed under the terms of the International Journal of Mathematical Archive (IJMA), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.]